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3 Phase Commit

● 1. The coordinator sends VOTE
● 2. Participants answer with YES or NO.

● 3. The coordinator sends ABORT or PREPARE.
● 4. Participants send ACK or abort.

● 5. The coordinator sends COMMIT.
● 6. Participants commit.



  

3 Phase Commit

P 3P 2

P 1

Vote!
Yes

Vote!
Yes
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P 3P 2

P 1

Prepare! Prepare!

All answered with “YES”
So let's PREPARE.
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P 3P 2

P 1

Prepare! Prepare!

Our leader is dead.
Let's elect a new one. Ok
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P 3P 2

P 1

Did P 1 tell you 
its decision?

No, I'm undecided. Ok, let's abort.

Abort!
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P 3P 2

P 1

Abort!

Uh, P 2 is dead. At least I
know the decision: abort
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BTW, I'm not dead.

I tried to send PREPARE.
May I please have your ACK?

ACK? No, we ABORT!

ABORT? No, we commit!
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